
1

1

2

2

3

3

4

4

5

5

6

6

A A

B B

C C

D D

Fasteners List

COLORPART NUMBERDESCRIPTIONITEM QTYITEM

MagentaDIN 6916 - 25Washer201

MagentaDIN-931-1-M24x360Hex-Head Bolt182

MagentaDIN 985 - M24Hex Nut203

OrangeDIN 933 - M16  x 40Hex-Head Bolt64

BlueDIN 933 - M16  x 30Hex-Head Bolt25

GreenDIN 7989 - A 22Washer146

GreenDIN 933 - M20  x 50Hex-Head Bolt147

BlueDIN 6916 - 17Washer88

YellowDIN 912 - M24 x 120Cylinder Head Cap Screw29

1 
A3

Aid frame with Sleeve units

Valtra N101-141-Series
State Changes Date Name

Drawn

Checked

Standard

Date Name

28.7.2008

www.jake.fi

JAKE

2 1

3

4

8

9

5 76


